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Note: i) Answer the following questions (any four) Total Marks: 70
ii) Each question carries equal marks.
Q.1  Darshan Trading Co. sells its goods under the hire-purchase system. It sells goods with 50% profiton  (17.5)

cost. Prepare Hire-Purchase Trading Account and find out profit from the particulars given below.

2021 Installment due 33,000

Jan,1 ‘Cash received during the year 95,000
Goods sold on hire-purchase 81,000
Installments due during the year 76,500
Goods repossessed during the year 350
(Outstanding instaliments Rs.1,200)

Dec.31 Installment not due 26,250

Q.2 Virat Store sells goods on hire-purchase system after adding 20% profit on cost. From the following (17.5)
calculate missing figures and find out profit by preparing Hire-Purchase Trading Account.

2021 Stock at the shop(cost price) 3,20,000

Jan.1 Installment due 1,00,000
Transaction during the year :
1.Cash received from customer 11,28,000
2.Goods purchase during the year 9,80,000
3.Goods repossessed valued at (hire-purchase installments, 11,200
unpaid Rs.36,000)

Dec.31 Stock at the shop (cost price) 4,42,000
Installments due 1,68,000
[nstallments not due 5,94,000 ,

Q.3  Some Balances are taken from the trail-balance of Aakash Bank Ltd. As on 31-03-2021. Prepare (17.5)
Profit & Loss A/c in From as per ‘B’. Also prepare scheduled 13 to 16.
Rs. _ _ Rs.

Share Capital 60,00,000 | Interest on current deposit 6,000

Toan Interest 7.,50,000 | Discount received in bills 50,000

Overdraft interest 2,25,000 | Rebate on bills discounted(1-4-20) 12,000

Cash credit interest 1,90,000 | Credit balance of P&L A/c(1-4-20) 2,50,000

Repairs of Assets 22,500 | Bank charges-commission recovered

Legal Charges 37,500 | from customer 40,000

Administrative expenses 60,000 | Salaries and allowances 85,000

Audit fees 20,000 | Rent of safe deposit vault 12,000

Director fees 35,000 | Rent and taxes paid 10,000

Interest on fixed deposit 1,80,000 | Sundry expenses - 12,000

Interest on saving deposit 95,000 | Sundry incomes 7,500

Other information :
(1) The balance of Rebate on bills discounted as on 31-3-21 is Rs.10,000
(2) Provide Rs.15,000 for Bad Debt and Rs.40,000 for Taxes.
(3) Proposed dividend is 10%.
Q.4  Write Short note on:
(1) Functions of a Bank €)]
(2) Statutory Reserve. ] (8.5)
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Q.5

Q.6

Q.7
Q.8

Ajay company Ltd. Is having standard costing system in operation for quite some time. The (17.5)

following data relating to the month of March 2021 is available from the cost records:

Particulars Budgeted Actual
Output (in units) 30,000 32,500
Operating hours 30,000 33,000
Fixed overheads(Rs.) 45,000 50,000
Working days 25 26

You are required to work out the relevant overheads variances,

A. From The following information of factory, calculate variable overheads variances.

Production fixed 300 units
Variable expenses estimated Rs.7.800
Time allotted per unit 20 hours
Actual Production ' E 250 units
Actual variable overheads Rs.7,000
Actual hours taken 4,500 -

B. Data regarding production of a month of a factory is given below :

Budgeted Fixed Overheads Rs.12,500 .
Budgeted .Produc'.cion 5,000 units
Production during the month 5,200 units
Actual fixed overhead during the month Rs.13,200

From above information, calculate (1) Fixed Overhead Variances (2) Expenditure Variance or
Budget variance and (3) Fixed Overhead Volume Variance.

Explain the meaning of Social Responsibility Accounting and Explain its scope in detail.

Discuss the benefits of Social Responsibility Accounting in detail,
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